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1. 	Answer any seven of the following questions : 
(a) Draw the structure of ethyl methyl ether.7x2-14  
(b) Explain any one difference between 

covalent and electrovalent bond. 
(c) Explain the Octet Rule. 
(d) What is cell cycle ? 
(e) Name the substages of mitosis. 
(f) Write any two functions of a cell wall in a 

plant cell. 
(g) Write the relation between various 

temperature scales. 
(h) State Newtons "Second law of motion". 
(i) Name any two uses of thermal expansion 

of solids. 
(j) Define 'lecture method' in science teaching. 

	

2. 	Answer any three of the following questions : 3x4=12 
(a) What are the important features of NCERT 

Curriculum ? Describe them. 
(b) What are the various practices and methods 

that are used for teaching and learning of 
science ? 
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Name any four general characteristics of the 
modern periodic table. 
What are transition elements ? Which of 
the following are transition elements ? 
K, Mn, Ca, Cs, Fe, Pt, Cr, Cu. 
Name any four significances of meiosis. 
Write short note on Theory of origin of 
Universe. 

3. 	Answer any four of the following questions : 4x3=12 
(a) The wavelength of Yash's voice and Harsh's 

voice are 1 m and 2.5 m respectively. If the 
velocity of sound is 350 m/s, calculate 
frequency of both. 

(b) Name two types of mechanical energy and 
derive expressions for them. 

(c) Give symbols for : 
(i) A metal belonging to second group of 

the periodic table. 
(ii) Most reactive halogen. 
(iii) Two non metals belonging to Halogen 

Family. 
(d) Explain the difference between Slag and 

Flux. 
(e) Write a short note on nucleus. Write any 

two functions. 
(f) 	Differentiate between plant cell and animal 

cell. (three differences) 
(g) Compare essay type and objective type test 

items. (any three) 
(h) What do you understand by audio - visual 

aids ? How they help you in teaching a 
better lesson ? (any two uses) 

MMDE-017 	 2 



4. 	Answer any three of the following questions : 3x4=12 
(a) Two bodies of equal masses move with 

uniform velocity V and 5 V respectively. 
Find the ratio of their kinetic energies. 

(b) Explain the working of a camera with the 
help of a diagram. 

(c) Write a short note on Carbon. 
(d) Write a short note on electrovalent bond. 
(e) Differentiate between arteries and veins. 
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3x4=12 
(a) NCERT' 4lcs-z(90-1 q1 	f I 	? 

fa-q--Tur 

(b) f4-JF f7rP,Tur 	31-19m -a-c -rtrr f--7 ,114 ark  
faf 	341-71-m 1.  faNt   1-F-07 

(c) 31-[1-1-4T 31-r-a-rq 9-rf-om-r 
far -4--d-p7 

(d) 4.-19f -1°1 - 111? 1:14-11(10c1 -4-4 -449b4-fur 
mot? 
K, Mn, Ca, Cs, Fe, Pt, Cr, Cu. 

(e) 	14r -k 	-ciR 

(f) 91I cf) 	IT{ 4R,T7r fatcruff fff4 

3. 	cirocr f1  	4x3=12 
(a) 	qf 3117 	 ct;1 31.7417 	Ttilt54 (wavelength) 

so-M: 1 m 47 2.5 m I 3TTR 'e4fffT a 	41 
350 rn/s 	th -qW 	,311-Ifff 'q-d1-4-7 I 

(b) 44-1V-1 71f4Tf 	 qd1-7 I 

(c) 	 : 

(i) qrq 	3Trafw 9-rfff-*-7 	TriTt 
43.  3t-d-Th 3-Trt t 

(ii) Tr-4-4 	oF9b,-pilo 

s3-1 Tift—a-R 4 4414ff t 3T4Tq I 
(d) - T-dT (Slag) t.  ';1--d7 (Flux) 't TR71 31 

oiRsqr W-A7 
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(e) ITT 41-a3-7 fa-ccruff .-1-F-A7 7:1-k 

(f) iq cf;){:dchi AT At chlNich 

41-0 

(g) .qTfra-Lv5 AT r-kNicHcb ,R1ur TrrTrit qd-a 	 

(h) r Tilqt 3Trq 	T11,1-7 	f--*74 
-Erz #-d-T thvgr 	? 

7crtz-r) 

4. 	̀14-11 rocs 	t 	 \TIM 	3x4=12 

(a) t 	 9-TIT c4-CI 	GitisR d4 l V I2.T1 5 V t 
TrpT 	Tri-d 	ch afTcIrd -T-d-q7 

(b) V,ch 	kTft t -TT41=tt 	 

(c) -TT 410.<7 tuTit 

(d) r1 	ch;1 	-(17 TifircT 	f(974 

(e) qTlf-1"-1).  TI)' 3f-d7 
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